REBHER

202.5%0. 822166 (kg)

Rl I 3 WIRZ |
3. (1)50X 25X 2, 2=2750(m")
—. 1. (D12 (2)60 (2)50X 25X 1, 8=+150=15(H)
2.(DmL (2)em’  (3IHm’ 4. 8XT7T4+T7X4X24+8X4X2—28=148(m*)
3.5.6 8.6 3000 0.075 750X 148=111000(g) =111(kg)
4.20 12 5.3 dm=30 cm
5.4 16 64 30X 24X (22—19)=2160(cm®)
6.5 12X12X12=1728(cm®)
7.8 384 512 21601728, /K A& i,
8.8 7 7
9.125 36 27 FoFAERMFE
10.35 30 .2, 8
—.1.C 2.A 3.C 4C 5D 9 9
=.1.(32—2X10)+2=6(cm) 2.9 14_9

(10X 6+10X18-+6X18) X 2=696(cm®)
3
2. £ [10X (8+6)+10X (2+3)+(8+ 3.5 10

6) X (2+3) | X2—2X6X2=496(cm?) 4. < < < = > <
RFL 10X (8+6) X (2+3) —2X 6X10= 5.45 60 2400 12.5
580(cm®) 6. (DL [ (K KUK /S
R R N 7.300
] ira&! i 8. 2. < <%
bl . L__L_J bl d_ 2 __ L.l 9. (1)l (Z)ZE 1296
3 K20 em 9820 em —.1.A 2.D 3.C 4B 5B
B (40—20) ~2+2=5(cm) =6 - o5 10 35 g 3
251,20 X 20 X 5=2000(cm’ ) = 2000(ml.)
2.3 L sy 7o A
F 1. (1)8X54+8X4X24+5X4X2=144(dm*) 2 18 95
(2)5 ecm=0.5 dm 3.56><%:24(Fl)
8§ X5X (4—0.5)=140(dm?)
P m\l- i1‘1"1
140 dm®*=140 L 4
—A

2.9X5%X4.5=202.5(dm*) =202. 5(L) R | |




ai\1.24><%=:12<ﬁﬁ)

1
2.35%X 1 =3.5(ke)

2.5<3.5,1%AHE,

5.3
&72x6»«z—4aﬁ®

44OX%:£(@)

5.(32004—2400)>cgc:49oo(jﬁ)

4900<<5000, 1% ,

FEELERMFE

.= < < =
4.8 7 14 24 42

8. 64
9.108
10. 180 60
ZLX 2.X 3. 4.X 5 X
=.1.B 2.A 3.D 4.D 5C

3 5 10 3 20 6
MWL 7 9 14 7 3
1
2.1 6 10 1
1 6 4
3.1—? 1—5 x 1

A (DWMEFIR .,
) MK P o

>t
K4

=
b

—24——%?%1%)

—24——%?ﬂiﬁ)

2.500="-=610(F

3
3+4-+5

4
3+4-+5

o
3+4+5
2

4. PUAED . 3000 X —————=750(4A)

HAEY, .3000 X ——————=1000(A4%)

INHEYL 3000 X =1250(A)

800——800><é?==480(nf)

o

H N 480 X =320(m?)

2+1

~+

2
hn 480><2+1 160(m?*)

0 F £ K o0lFAE
—.1.470 0. 34
L. 2
2.12 6:7 3

3.108 486 729
4.5 3 48



1 15 He A7 R 24 kg KB EEREN 240 kg,

5 = -7
21 7 5.6X6X (7—5)=72(cm*)
6.322 58500
V24 £/ - 2 N 3
3 4 %@$m%ﬁ‘°md1*%\
7. =
4 3
—.1.10
8.9 27
2.20
9.24 24
3.10.8 1.8
10. 160
4.8 27
—Jd.xX 2.4 3. 4.X 5 X
5.16 24
=.1.C 2.A 3.B 4.C 5.C
6.6 7 14
1 10 1 1 i X
M.l 5 15 e 6 5 7.0 2.9 Hmo 1.3
J20 6 o 1 8.164 116
27 20 —.1.B 2.A 3.A 4.C 5 A
3x:i x:i IZH xzi =.x=150 =90 x=20 x=9
22 2 6 16 .
M .1. 7 =90X5=450
10 .
BQ0:21 57 32:1 32 1:1 1 2. JFE=500X6—2=2998
b1 9 . 315

153K . (420—45—60) +=3=105(4)
B BR:1054+45=150(4)
WK 1054+60=165(14>)

N AR 20T,

1
Sxr+8X-=x=1120 x=120
—= = 6
‘t\1.128><5_’_3 48( 1)

751 (12X5+12X6+5X6) X2=324(cm*)
12X6X5=360(cm’)
2.16X16X6=1536(cm*)
16 X16X16=4096(cm’)

. 1 .
FER.120 X —-=20(71)
2.14000——————24000(75) 6

12
A EBR 120 0. B ER 20 JC,

3.20X18+30X20X2+30X 18X 2=
‘ 2. WA /MERBER « ke
2640(cm?)
Sx+8X (x+15)=445 x=25
30X 20X 18=10800(cm*)
KEE.25+15=40(kg)
1
4. (1)2700Xm=180(kg) FEASINEE B 25 kg BRAERE . 45 A K g 4
2700 X ——2 60 (kg) 10 b BB
00X ~————==2360 B
1+2+12 g 3. WK - (46050 X 2) = 2=280 ()
12 _ SRR (460—50X2) +2=180(J0)
2700 X y 575 = 2160Cke)

4. TEER . (2704+20X3) =+ (3+3)=55(I0)
HeBk . 55—20=35(I1)
5. B HARN R 2 o, WP ) R R

B A 180 kg i EELHH 360 ke,
T K 2160 kg,

(2)48+2=24(kg) ,
24X12—48=240(kg) 3t e




101+9><%1:48 x=3

Emﬁx%:ﬂﬁ)

BT 10 840 3 TE, PHIRKG £ 400 2 T
% 2 E K0 F A

o BR
.80 9 18 16

> >

3
.15 144

RIS
.800 1200 2000 4800
.C 2.B 3.C 4.C 5A 6A 17.C

273 5 36 14 8 67
‘50 2 3 91 9 27 40

_ 4.8
_11X3
:g
33
4 4
65 15 X6
e 3
6 +8
_ 9
=5 +8
1o 1
=124
151,95
u 378 3
14 8 8
_15 (3,5
14 <8+8)
_ 1
14
3,5 2
(5+e—3)x2
_3 S _2
-—8x2m+6x24 2 X2
=9+20—16
=13

x=2 x=7 x=270

.35o><(1+f%J::420<kg)

)

360X (1—2) =60(4)

6
S

L (1)55X (1—-2) =30(km)

11

(zmgx(y—%)=4ka>

.Mmox(y—%)+5=7&ﬂm
7.7
(180X ¢+ - =160Ccm)

20+ (1—2) =250
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45—25=20C )

20><<1*%):16</\>
B -Z AR THAKZIAZAKY
%nﬁﬁlﬁa‘im B A BAKA zo+(1—%) =

25(A) M R A ANH A 45—25=20(A),
FAZ R B EWRG E LA EARKY

%ﬁu&i&ﬁﬁﬁ$%%%%ﬁ

1y
20X (1= ) =16(A).

 5E 7 E R0 A

62.5%
0.375  0.625

3 S

8 8
2.35 100 45%
3.9 20 75
4.125 37.5 50
5.96% 4%

6.3 2.6
7.60 40
8.3.75
9.22.5
10. 140

—1.X 2.X 3.J 4.4 5 X
=.1.C 2.C 3.A 4.B 5. A

27

ﬁ x=42

Nox=9 x=34.56 x=

+£.1. 2280+2400=95%
2. (1)(135—120)+120=12.5%
(2)135+(1+20%)=112. 5CF LA
3. (8260—400) X (1—75%) 4+400=2365(J0)
4.9.6+(1—80%)=48(JC)
5. ZXBHEBA A,
3

1*312300
x="750
ﬁ&%ﬂl%:%oxi:%ouli)

S
M AA 450 AL BHEAA 750 A

ER%(—) #LHEH

R

AHE ARAR

.30% 65% 80% 95%
.18

= W N

S.- 5 2

6.1 4 O
7.10 16 15 &0
8.9 60

17
25
10.1:9 10%
11.3: 2
12.118.8
13.112.5
0 2.0 31X 4.X 5.X 6.X
7.4 8.4 9.X 10. X
=.1.B 2.A 3.B 4B 5C 6.B 7.B
8.D

9, 67.8% 0.67 0.67 4%
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1 5 7 5

£\1.3.14 3 g E E %

2.1:4 5:3 5:6 7:8 3:5 4:3
.40 1 9 5
vy 5 4 g 151 8.96

_ _21 3

+ . x=60 xfE x=2.8 1725 x 3

_16

T
}\Ju(%—=é>X62596:OJM25

, M M 2 2

15 1577 3
3R x.
(1+50%)x=1.2X25%
x=0.2

EJ 4 (=) BAHL LA

—1.L ecm® mlL L
2.2 4
3.5
4.0.54 3.2 7080 4 800
5.150 125
6.48 94 60
7.18 126
8.5.4
9.5 14
10. 164 148
X 2.4 3.X 4. 5X
=.1.A 2.C 3.C 4.C
M1 2 (2X3.5+3.5X54+2X5)X2=
69(cm?)
A 23, 5X5=35(cm?)
2. RMA .1 X1X14=14(cm*)
ARA1X1X1X3=3(ecm?)
3. KA. 8X8X6=384(cm?)
RFH .8 X8 X 8=512(cm®)

H.1.8 11 14 17 20 3a+2
2.7 10 13 16 19 3a+4
75 (DEX1+H3X1+H6X3) X2—1X1X4=

50(em®)
(2)7.8X (6X1X3—1X1X1X2)=
124. 8(g)

2. (1)50 X 40+ (30 X 40+ 50 X 30) X 2=
7400(cm*)

(2)40 L=40000 cm’
40000 (50X 40) =20(cm)
(3)2.5X50X40=5000(cm?)

3. (1 0—2) X (6—2) X (5—1)=128(dm")
(2)10X6+10X5X24+6X5X2+ (10—
2)X(5—=1) X2+ (5—1) X (6—2)X2=
316(dm*)

TR h(=2) Bk
_ Ll 1111
2 4 8 16 256
it 1t 11
2 4 8 16 256 256
2.8 K
3.50
4. (1)120
(2)5 30 100CEZAME—)
(3) Z Ll CE R AR
Z.1.C 2.C 3.B 4D 5 A 6B 7.A
8.C 9.B 10.A
=10 B O C @A
2.0—C @B O®—A
MM .1.48000X (1+15%)=55200(kg)
2. 1 DPRER » kg R,

4x+6X %172420

x=70

/]\’[%:7O><é=73—0(kg)



LA fzax MV = /51 AN St
BASRKEN LI 70 kg SER L BAS/NMER] 5375 300 75%t
70
pus Y kg WA,
Ay ke PR 6.88 48
4., 1 7.10
T
. 8.12 4
; P P P f— /\
180+ 1= (75 12) X 6] =1800(4) 0 116
4. WONFEH R AU E R IE KA « kg, N 10. \H 15
e 2 =.1. . . . .
WA B kg Lo 20 3/ d s
=.1.B 2.B 3.A 4.C 5B
2
x— —x=—150 25 1 2
3 25 1 2
Wlg o5 201 125
x=—450
9
2.x=— x=22.5
2 =2 % 1450=300 10
3% 3
‘ 3.2 ol 50 2
Wt 4 B 1 45 450 ke, W 4E B Y K 98 "5 5 : 2
B 300 ke, F. 15X 15X6=1350(cm?)
5. Bt FE N XCA o R, A RN X 15X 15X 15=3375(cm?)
_ 2
15X 12X 8=1440(dm*)
5
30422+ (14200 Do (] —
230+ 22+ (1+2000) + g+ ,‘—\\1.zooo+(1—%)=4500<4\>
0 —
25%0) =470 2.5+(254+5)=16.7%
=90 3. (1)800X 240 X 8= (4 X 4 4) =24000(He)
90+30=120(fF) (2)5%X 3. 6X0.4=7. 2(m®)
ﬁ}]*%:ﬁ\oﬂdi;ﬁ%\ 7.2 m*<<8 m®, 1%,
4.840+60% =1400(J0)
—.1.48 20 62.5 0.625 1400% 1. 5% X (40—20) =420(5T)
2. = > <
5.25+(l—l)=180(ﬁ>
3 - _
"2 18
4.137.6% 1.37



GANBEER

Rt Z 4T (—)

¥ 74K fa I 4K 6 A 12
LK 5% &
(2)15
(DIETT WK 25
WDOKTT BT
2.(DB (2)C
3. 34X 4422 X 4+47X4=412(cm)

15 20 20 12 12

4.64-[(5—1D X2X4]=2(cm)

R EZE (=)
S X g B S . 3 |
L (/D)
¢ HC )
2 i
KW ORIE AE o
T
3.(DD (2)C
4.8X8=64(cm?) 6X4=24(cm*)
5.7 6 2
6.12 4 8
7.(DD (DF (3B
R, EZ 83 ()

£ ithde Bk A BR(])
1. (1)8 X8=64(cm?)

8§ X3=24(cm*)

4 X3=12(cm*)

(64-+24+12) X2=200(em?)

(2)2X2=4(dm")

1.

N e W N

A U e W N

4X6=24(dm")

(1) (10X 5.5+10X3+5.5X3) X2=

203(cm?)
(2)8X8X6=384(cm?)

. (40 X 30 + 40 X 10 + 30 X 10) X 2 =

3800(em?)

.50 X50X6=15000(cm?)
.12+-4=3(cm)

12X12+3X3X2=162(cm?)
Rt 5T (@)
KFhfe L ARG EBI(2)

o 4

.3.5X5X4=70(dm?)
CAX5X244X0.8+5X0.8X2=51.2(dm*)
0. 75X 4X4X10=120(m*)

CBEES 0,80, 64-0.8X0.3=0.72(m?)

AM:0.8X0.64+0.3X0.6X24+0.8X
0.3X2=1.32(m?)

LOXEXE+H2X2X4—2X2=162(dm")

Rt £ 85 (R)
1R A2 Fa R A% 0 & L

(DEHC D

2)/HC )

(DX (DY X

(DA (DA

ZERR T B K B2

I OME QO R —H K, QR A B
HIRLER 1A R T 22 ) DR B IR B

DEERCT AT A AR T AR 1 JTRE T Y



W N

=

.mL dm® cm® L cm®

.0.001 8 1
(D

PRER . ELBE T A HOBOMT 55 L 53 L2518 .

.3X3X4=36(1)

36—12=24(4>)
RS E BT ()
1R A2 # 4%

(DR KRN

2Ok /NN

.9 7 13

dm?

.450—250=200(mL)=200(cm?")

.4.6=500=0.0092(J0)

8.8-+-1000=0.0088(JL)
2.1-+200=0.0105(J0)

[K2A 0. 0105>>0. 0092>>0. 0088,

B LAY SE 8. 8 JC 1000 ml 40 2% i1y 4= i Hb 45
a5

LI XT7=T7(cm?)

R EEEE(E)
K ihde £ F R QG444 (1)
125 0.125 216

Lzzz

3

K
(DK T F . 5X3X2=30(cm®)
EHFRBIEF 4 X4 X 4=64(cm®)

KRR 12 X4 X 5=240(cm?®)

1E R AR R .3 X3 X 3=27(cm?)

.37 X19X9=6327(cm’)
.3X0.5X2=3(m")

. 87.5X50X56=245000(cm*)
.9+6X1.5=2.25(dm")

. (120 60

.(DC

Rt E A8 E (AN
£ 5 fh Ao B 5 4R R AR (2)

(2)5

. (1)160X20=3200(m")

(2)200X16=3200(m")

.9X15=135(ecm?)
.12 em=0.12 m

24-(4X0.12)=50(m)

.16 X5X0. 73=58. 4(kg)

58.4>50,fE3L K .

.1.2m=12 dm

2.4+(2X2)X12=7.2(dm")

.25 ecm=0.25 m

(10—0. 25X5) X 3X (0. 25X6)=39. 375(m*)
R AL &Yk AANS £,
TAB— AR K TR KRB R G KA KT
K KB BT LR R 8RR T
RAt o 4EF ()
kA2 B 4z 9] 69 ¢t H

(H)D  (3C

.0030 0.268 0.25 75

> = < <

L4000 em® <<7.08 dm® <<2. 8 m®*<{3 m® <<

4500 dm?

.2.5dm=0.25m

3X0.35X0.25X80=21(m")

21 m*=21000 dm’

.8X5X3=120(dm*)=120(L)

120 L=0.12 m’

.0.36 L=360 cm®

6X6X[15—360+(6xX6)]=180(cm®)



Rt ZEF(+)
% 2% (1)

.0.98 3280 3280000
(D2 (2)dm dm? dm? dm®

N

(3)2 4 8

(DB (2)C (DA

. 80000+ (20X 20X 2. 5) =80(4)
.21 X126X1.8=4762. 8(m*)

SN 0 e W

.192+4-+8=6(cm)

6X6 X (846)=504(cm*)

Rt 9 ZHF(+—)
#3132 54 7 (1)

1.(DA (2)C OC
2. M 5X5X6+9X2X4=222(cm?)

AR5 X5X54+2X2X9=161(cm*)
3. (1)10X8X5=400(cm?)

(2)(10X8410X5+8X5) X2=340(cm?)
4, 240+4-+-4=15(cm)

15X 15X 20=4500(cm*)
5.6 m=600 cm

2.7 m=270 cm

(600+3) X (270+3) X (6+3)=36000(H)
6.200+(1248) X 12X 8=960(cm?)
FRAT : 1A 3R 5 7T A A A @ A2 52 200 em”, K
A 12+8=20C(cm) ¥ K 7 B, X F 3k 4t K
A 10 em, B K A AR 8 SEAF A 10 em,

Kot 4B A E (4 2)
2 @ ik B o9 E 54N

1.(D64 8 T 24 [ 24 TH
(212 6

(312(n—2) 6(n—2)" (n—2)°
2. (1)3X3X3=27(cm?)

. 10 .

()1 G .6 X1=6(1)
2 MEM.12X1=12(4)
3B .8X1=8(4)

.3X3XT7=63(1)
L3X4+H4=16(1)

R, EZ BT (+ =)

b5 EH AR
111 3 1 . 3
77 7 7 7 7
(G@m) xz=2
: 18 6
3 25 16 5
5 6 5 5 5 8 5 10 12
4o .24,
.5><6 5(m)
.1 5r=60Fb
3 _ 18
3a_d
.§><6—4(kg)

1

.—><<31—1>:%<67\>

20
R > ZEF(+ )
E—NEG UL Z LA S
S RIREAL(])

DAAAAANA

VAVAVAVAVAVAN
ANNNNN

2 _
18><§—12

(2)




1 1
.u)§ 6X§—8

3 3
(2)4 6><4—4.5

1
.12X§~4(R)

. (1)6X6=36(kg)
1

_6 o
(2)6><§—5(kg) 6><6 5(kg)
7_2
(3)6><E— 5 (kg)
1_
.68><Z—17(cm)
1

w>§%m@%mmmﬁm%zo

REt 9 ZHF(+ L)
E—NEKGUHrZ LA S
D LR AL(2)

(D2 O000000O

1_
6X 5 =2

24 OO000O

2 _
10X ==4

QDL LI CY A LT~
O4E B D

T

; SR 2

.180><%:30(7t)

.800><%=100(m)

.300><%z180(km)

300—180=120(km)

. 11 .

7.

X

(DX

(120X

" 10

L2720 7T —

12—12><%:8(cm)

12—8=4(cm)

4 X 8=32(cm*)
R At E 18 F(+55)
o # 5o Aa Rk

8 _(1)X(8) (1
9 (8)HX(9) (9

760
(2) X

i:

1 15(kg)

3.3_9
(2)§Xz—32(kg)

3.05_1

BT 5E. OB R —J6 T T2+ 2 %

51818 i
T~ 20 ,20<1’E?U/J\Eﬁxﬁb%mﬁzl§:ﬁo

RE,Z BT (++)
o #E R

1
s 120 2

4,3

120X = X 2 =72(kg)

5 4

AR AR T

48 30



4. E = 1 b 1 1
2400><% |TLLF%/\£/%7‘ 7.ab_a><g+%><§:1_1+g:€
EERAZ LT
TxZ | 2% BT B b BB BT A ab—1a b
12 T F AR T8 S .
POy BRI 2 L7 LE AR ax =1,
S.GGOX%X%ZHO(Z) RS L HEF(+A)
I 5 4% 2
6.42><%><%=7(kg) £2547(2)
1. 1
7.173m=650cm 2
333 702
3.,3.,3_702 3
65O><5><5><5 5(cm) -
Rt~ E BF(+AN)
18] 22 7 A <2 ° 5 18 13 1 24 25
13 1 1 5 9 3 1 4 3 2 127
Ly 007 25 35 4 ‘21 9 2 15 5 2
4 2 9 3
4 2 9 4.16X2=12
2.0 5 5 D1 3o 1 i €
3.OX (DX DY WX 5.400><%><%=24o(%1{a¢)
4. (DB (A (3D
25
5. 5 % 6. 180><%—125(cm)
120 em<C125 em<<140 cm, £F S bR,
2 ; R, EZHBF(=+)
5
VaE QR E
; 5 N 2 1
7 2 EEREREREREE
11 1 1
4 : 2(1)5 Z (Z)Z E
9 5
11 1 2
' 6 5 30
33 5 3 4 7 5
(2)4+8=0.5 "19 24 56 27 40 22
9.2_3 17 7
(3)Z><§_2 o5 5 16 3

0120
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. 60

3 .

7,1
C10° f40(kg)
.66—1=65(2)
1_3_ __/\
3 65 ()
L 60=4(F)
15
RAT . A Xonda th A b AR 2 b I ey B B, M
66 B A w A miE EF66—1=65(&),
R L LT (=+—)
OB VL 2
wre [T
s [ERRIE] (11 1]
5 5 8
(1)1 o (2)§ 24
3 5
(3>3§ 18 (4)3; 25
181 %%
40 81 27
12 o 49 5 5 32
9 6 7.5
9 49 1 25
.3
.36T§=—mukm>
2 .3
f—HO(F) 9072-—MOCF>

Al h 90<C120, AT LALT 4T 1 b k5 £,

A2+2=18 18+Z =27
RELLZBF(=+=)
o~ BB VA 4
Tty

. 13 .

MAHTEE S

.1
TE—IZ(XX)

3
o
o

2.1 _
P37 6(R)

MA%ﬁ”ﬁ%d+%:w%)

B M AL FEEHEREE S AR

1
9

2

gtz@ﬁméétomA@%%éﬁ&x

imﬁ%k%%%ﬁﬁﬁ%k%%ﬁﬁ
/fi“l”c
RHHLrEBEIF(=+E)
% 2% (2)

27 20 1 4 3 2
‘16 27 4 3 2 3

4 5
()3 4 (2)64 57 (3)= 5
< = o> << >
(DX ()X
.(1)2 =50 10¢71)
(2)2 " 16 81

W.7_4 txm
(D= (TR



[P )
(25 | (k)

.b>a>c¢

REEPEZ T (=+ )
o # Rk 6 LR AL

DA R AT BRI AR R B

w3 A

zJCZS

9

x=36

(2) B3 45 B B T E
BMFEHA I,

A 1R

I
gx—15

x=45

(1362216

5 = (m)

(2423

127
e 2 (m)
. 1y
.907(1"‘3)—75(}\)
L 3_25
o TET (kg)
R £ ¢ (=+£)
o~ #E IR Fe RO IR A
25 8 2
.(1)5 (2)7 (S)T

2 5 15 3

"9 9 13 7

E i_ :i 2
.8><2.2 3Z(dm)

.12><%=9(km)

0140

S
9 =27Ckm)

3.3
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